



98 Victoria St Ph 97212114

schools@centralnewsbunbury.com.au

Child's Name: Circle: Boy / Girl KINDY Mobile:	
Parent's name: Email:	
Qty Price Items (Cross out those items not required)	
1 7.99 Display Folder A3 20 Inserts 7.99	
1 3.50 Dats Twist Crayons Wallet 10 3.50	
4 1.25 Scrapbook 330mm x 245mm 64pg 5.00	
1 5.99 Triangular Maxi Pencils 5.99	
3 2.99 Bostik Blue Glue Stick 35g 8.97	
5 0.70 Faber Castell Junior Grip Pencil HB 3.50	
1 6.99 Faber Castell Whiteboard Markers Wallet 4 6.99	
1 7.99 Faber Castell Jumbo Connectors Pk 12 7.99	
2 3.99 Dats Adhesive Tac 7.98	
1 6.50 Sovereign Art Smock 6.50	
1 20.00 Voluntary School Contribution 20.00)
\$84.4	1
Must be completed and paid by 24/11/2018 - LISTS AFTER THIS DATE ARE STILL ACCEPTED - Lodge order at school - Come into store and pay with Credit Card, Eftpos or Cash - Mail in stationery list with payment to bank account/credit card	
Central News Bunbury Use school (DJ), surname & class as reference eg. DJ Jones K Mastercard/Visa only	
BSB: 484 799 Acct: 037376740 Card Holders Name:	
MUST BE LODGED BY 24th November 2018 Card No: / / Card Expiry: /	
TO SECURE THESE PRICES & ITEMS FOR YOUR CHILD Please retain this portion as your reminder, the original list & receipt will be returned with your order	

DJIDI ABORIGINAL SCHOOL 2019 KINDY

98 Victoria St (Near Sussans)

Ph 97212114

schools@centralnewsbunbury.com.au





Pre-Primary

98 Victoria St Ph 97212114

DJIDI DJIDI ABORIGINAL SCHOOL 2019

schools@centralnewsbunbury.com.au

Child's I	Name:	Circle: Boy / Girl Mobile:		
Parent's	name:	Email:		
Qty	Price	Items (Cross out those items not required)		
1	7.99	Display Folder A3 20 Inserts	7.99	
6	1.25	Scrapbook 330mm x 245mm 64pg	7.50	
1	4.00	Rainbow Exercise Book A4 Sky Grass Dirt 24mm 64pg	4.00	
1	4.25	Rainbow Pad Sky Grass Dirt 24mm 50SH	4.25	
1	3.99	Dats Adhesive Tac	3.99	
1	5.99	Triangular Maxi Pencils	5.99	
1	6.99	Faber Castell Whiteboard Markers Wallet 4	6.99	
1	3.50	Dats Twist Crayons Wallet 10	3.50	
5	2.95	UHU Glue Blu 40g	14.75	
1	0.40	Dats Eraser Plastic White	0.40	
5	0.70	Faber Junior Grip HB	3.50	
1	6.50	Sovereign Art Smock	6.50	
1	30.00	Voluntary School Contribution	30.00	
			\$99.36	
- Lodge o - Come ir	order at sonto nto store	ed and paid by 24/11/2018 - LISTS AFTER THIS DATE ARE STILL ACCEPTED chool and pay with Credit Card, Eftpos or Cash by list with payment to bank account/credit card		
Central News Bunbury Use school (DJ), surname & class as reference eg. DJ Jones PP Mastercard/Visa only				
BSB: 484 799 Acct: 037376740		ICard Holders Name:		
MUST BE LODGED BY 24TH November 2018		ED BY Card No: / / Card Expiry: /		
	URE THESE S FOR YOU	IPN NO: Signature: Date: / /		

DJIDI DJIDI ABORIGINAL SCHOOL 2019 Pre-Primary

98 Victoria St (Near Sussans)

Ph 97212114

schools@centralnewsbunbury.com.au





98 Victoria St Ph 97212114

schools@centralnewsbunbury.com.au

DJIDI DJIDI ABORIGINAL SCHOOL 2019 Year 1 - 2				
Child's I	Child's Name: Circle: Boy / Girl Year 1 2 Mobile:			
Parent's	s name:	Email:		
Qty	Price	Items (Cross out those items not required)		
6	0.85	Tudor Exercise Books A4 24mm Dotted Thirds 48pg	5.10	
4	1.25	Scrapbook 330mm x 245mm 64pg	5.00	
1	1.10	Sovereign Document Wallet PVC Velcro Close	1.10	
1	4.00	Rainbow Exercise Book A4 Sky Grass Dirt 24mm 64pg	4.00	
1	4.25	Rainbow Pad Sky Grass Dirt 24mm 50SH	4.25	
1	5.25	Faber Castell Connectors Pk 12	5.25	
1	2.00	Marbig Pencil Case Medium 22x14cm	2.00	
8	0.40	Faber Castell Pencils HB	3.20	
1	0.80	Ruler Wooden 30cm	0.80	
1	2.50	Dats Coloured Pencils Pack 12	2.50	
5	2.95	UHU Glue Blu 40g	14.75	
1	1.00	Faber Castell Single Canister	1.00	
2	0.40	Dats Eraser Plastic White	0.80	
1	2.40	Scissors R6007 13cm Suitable Left & right Handed	2.40	
1	30.00	Voluntary School Contribution	30.00	
			\$82.15	
Must be completed and paid by 24/11/2018 - LISTS AFTER THIS DATE ARE STILL ACCEPTED				
_	order at s			
- Come into store and pay with Credit Card, Eftpos or Cash				
- Mail in stationery list with payment to bank acct/card				
Central News Bunbury Use school (DJ), surname & class as reference eg. DJ Jones 1 Mastercard/Visa only			a only	
BSB: 484 799		ICard Holders Name:		
Acct: 037376740 MUST BE LODGED BY Cond Funity (
24TH November 2018		icard No: / / Card Expiry: /		
TO SECURE THESE PRICES Ph No: Signature: Date: / /				
& ITEMS FOR YOUR CHILD Please retain this portion as your reminder, the original list & receipt will be returned with your order				

DJIDI DJIDI ABORIGINAL SCHOOL 2019 Year 1 - 2

98 Victoria St (Near Sussans)

Ph 97212114

schools@centralnewsbunbury.com.au





98 Victoria St Ph 97212114

schools@centralnewsbunbury.com.au

	DJID	I DJIDI ABORIGINAL SCHOOL 2019 Year	3 - 4
Child's	Name:	Circle: Boy / Girl Year 3 4 Mobile:	
Parent	's name:	Email:	
Qty	Price	Items (Cross out those items not required)	
15	1.25	Tudor Exercise Books A4 14mm Dotted Thirds 96pg	18.75
1	4.00	Rainbow Exercise Book A4 Sky Grass Dirt 18mm 64pg	4.00
1	4.25	Rainbow Pad Sky Grass Dirt 18mm 50SH	4.25
2	1.80	Cumberland Display Folder A4 20 Inserts Red	3.60
1	1.25	Scrapbook 330mm x 245mm 64pg	1.25
1	0.80	Dats Scrapbook A5 60gsm	0.80
2	1.10	Sovereign Document Wallet PVC	2.20
1	2.95	Pencil Case 1 Zip John Large	2.95
1	2.95	Micador Scissors Purple Tick here for left handed	2.95
1	0.80	Ruler Wooden 30cm	0.80
1	2.50	Dats Coloured Pencils Pack 12	2.50
1	2.50	Dats Project Markers Pack 12	2.50
2	0.40	Dats Eraser Plastic White	0.80
10	0.40	Faber Castell Pencil HB	4.00
4	2.95	UHU Glue Blu 40g	11.80
1	1.10	Sharpener Double Canister	1.10
1	30.00	Voluntary School Contribution	30.00
			\$94.25
Lodge Come	order at s into store	ed and paid by 24/11/2018 - LISTS AFTER THIS DATE ARE STILL ACCEPTED school and pay with Credit Card, Eftpos or Cash ry list with payment to bank account/credit card	
Central News Bunbury Use school (DJ), surname & class as reference eg. DJ Jones 3 Mastercard/Vis			/Visa only
BSB: 484 799 Acct: 037376740		Card Holders Name:	•
	T BE LODG Novembe	ICard No: / / Card Expiry: /	
	URE THESI	IPH NO: Signature: Date: / /	<i>!</i>

Please retain this portion as your reminder, the original list & receipt will be returned with your order

DJIDI DJIDI ABORIGINAL SCHOOL 2019 Year 3 - 4

98 Victoria St (Near Sussans)

Ph 97212114

schools@centralnewsbunbury.com.au





98 Victoria St Ph 97212114

schools@centralnewsbunbury.com.au

	DJII	DI DJIDI ABORIGINAL SCHOOL 2019 Year	5 - 6
Child's Name: Circle: Boy / Girl Year 5 6 Mobile:			
Parent's name: Email:			
Qty	Price	Items (Cross out those items not required)	
5	1.10	Protext Exercise Book Ruled 8mm 64pg	5.50
1	1.25	Scrapbook 330mm x 245mm 64Pg	1.25
2	0.80	Writer Project Book A4 8mm 48pg	1.60
2	4.25	Rainbow Pad Sky Grass Dirt 14mm 50SH	8.50
1	1.10	Sovereign Document Wallet PVC	1.10
1	1.80	Cumberland Display Folder A4 20 Inserts Red	1.80
1	3.95	Lever Arch Board	3.95
1	1.15	Dividers Cardboard A4 5 Tab Assorted	1.15
2	0.40	Dats Eraser Plastic	0.80
2	2.95	UHU Blu Glue 40g	2.95
1	2.95	Pencil Case 1 Zip John Large	2.95
10	0.40	Faber Pencils HB	4.00
1	1.00	Faber Castell Sharpener Single with canister	1.00
1	0.60	Celco Protractor 10cm 180 Degrees	0.60
1	0.80	Ruler Wooden 30cm	0.80
1	2.95	Micador Scissors Purple Tick here for left handed	2.95
1	30.00	Voluntary School Contribution	30.00
			\$70.90
- Lodge - Come	order at s	ted and paid by 24/11/2018 - LISTS AFTER THIS DATE ARE STILL ACCEPTED school and pay with Credit Card, Eftpos or Cash ry list with payment to bank account/credit card	· ·
Central News Bunbury Use school (DJ), surname & class as reference eg. DJ Jones			l/Visa only
BSB: 484 799 Acct: 037376740			
MUST BE LODGED BY 24th November 2018		Card No: / / Card Expiry: /	
TO SECURE THESE PRICES & ITEMS FOR YOUR CHILD		IDh No: Signature: Date: /	/

Please retain this portion as your reminder, the original list & receipt will be returned with your order

DJIDI DJIDI ABORIGINAL SCHOOL 2019 Year 5 - 6

98 Victoria St (Near Sussans)

Ph 97212114

schools@centralnewsbunbury.com.au